


Synthetic contracts

Synthetic combinations:

Bought Call = Bought Forward + Bought Put
Sold Call =Sold Forward + Sold Put
Bought Forward = Bought Call + Sold Put
Bought Put = Sold Forward + Bought Call
Sold Put = Bought Forward + Sold Call
Sold Forward = Sold Call + Bought Pt
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Option Namesi RIC codes

Month | JFMAMJ J ASOND

______ SI——

Call |ABCDEFGHIJKL

Put |[MNOPQRSTUVWX (also Frw)

ERIC8J45 = call option, expiry in October (third Friday) 2008 with strike
price 45 SEK (also 450 or 4.50 SEK is possible). The corresponding RIC
name orRueterdor the same option is: LMEb450J8.ST

ERIC8B is a forward on Ericsson with expiry in February 2008.
The corresponding RKCode orRutersis: LMEbGS8.ST.



Reuter uses the following rule for the
months on Forwards:

Jan =F, Feb =G, Mar =H, Apr =,
May =K, Jun =M, Jul =N, Aug =Q,
Sep =U, Oct =V, Nov =W, Dec =72



Ranks of Trades

1. Price; lowest ask(to buy) and highest bid (to sell)
price.
2. FIFOT First In First Out.
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Reasonto buy a Call Option

. To get a better lever, i.e., to make a better profit for every

cash unit invested, compared with buying the underlying
asset.

. The risk is lower to buy the option compared with the

underlying asset. If the price on the underlying decreases,
you can only loose the invested capital, not the
corresponding decrease of the underlying asset.

. Avoiding to tieup you capital. You can do other

Investments until you might want to buy the underlying
asset.

. To plan for to buy the underlying asset in the future.
. If you like to sell the underlying asset, but still want to

earn money if the price will increase.
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Reasonto sella Call Option

To get a profit on a neutral or falling market.

To increase your profit on a neutral or a weak
Increasing market.

To be compensated on a decrease in the market.
To fix a certain ask price in the future.



Reasonto buy a Put Option

o

To get a profit on a falling market.

2. To protect an income from the underlying if the
prices on the market will fall.

3. To lower the risk by owning the underlying asset.



Reasonto sella Put Option

1. To get a profit on a neutral or weak market.
2. If you plan to buy the underlying asset in the future
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A decreasing market
A decreasing market is also calledisseor abearisha

market. All strategies are made when you believe that the
underlying price will decrease.

Simple trades

A Long put
A Short (written) call



Negative price spread [Q 1 O]

A negative price spread is also calleoear spreadr a
basis spread.
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A negative price spread is also calleldear spreadr a

basis spread.

Trading reasons

Higher probability to a profit than a long put.

Requires a smaller changes in the underlying than a long put.
One can buy more contracts than on a naked put.



Negative price spread [Q 1 O]

Profit: Limited
Losses: Limited
Breakeven:

Strike price long
| | | Initial premium
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Follow up

On a decrease: Roll the price spread to a lower strike price

On an increase: Issue more put options and create a ratio
spread or a ladder.
Issue a call option to compensate for the
Initial cost and create a thrésg position.



Negative Time Spread [+]

Buy a put options at near or ATM with long maturity and
sell put options with a lower strike with a shorter maturity
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Negative Time Spread [+]
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Ratio-spread with put options [11 O]
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Profit: Limited. The difference between the strike prices
plus/minus the net profit/cost for the options.
The maximum profit is reached on the lower strike.
Losses:Unlimited on a big decrease in underlying price.
Margin requirement: Always needed.



Negative Backspread 1 1 O]

Payoff
)
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Breakeven

The lower strike price plus the difference between the
strike prices plus possible losses or minus possible profits.

Margin requirement
Very restricted.



Negative Backspread 1 1 O]
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A negative threeleg [-1 011 O]
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Losses
Limited. Difference between the strike prices on the call plus a possible
Initial cost or minus a possible initial profit.

Breakeven

Upwards:  The put option strike price minus the possible cost.

Downwards: The lower strike price on the call option plus the possible
Initial iIncome.



An increasing market

An increasing market is also calleidusseor abullish.
Strategies when believe that undi@ng price will increase.

A Long Call / Bought Call
A Sold Put option / Short Put



Put Hedge, Protective Put or Synthetic call [0 1]
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lock the earned profit.
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A
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(= a positive price spread). If you believe on a price turn, sell the
put option and buy more stocks at the new lower price level.
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Positive price spread / Bull spread [0 1 O]
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Construction: Issue a call option and buy a put option.

Profit: The strike price of the call option minus the underlying price
plus possible profit or minus the cost.

Break-even: The stock price plus cost or minus the profit.

Losses Limited



Positive Time spread { +]
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O Spread with unde
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Positive Back spread [0 1 1]
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Fence [0 1 0 *]
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Positivestair [0 1 0 1 O]
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Neutral markets

Short Straddle [11]
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Long Butterfly [0 1 11 O]



